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‘Thare are 30 questions In all in this Part. Mquesuonsmmm

1. @wplugai®eog a8 s1i Qewdamand Biwral g

A)  ysuisar auTapLh meiEan ssoiniiy g
B) qmmasmu_dm.yuquﬁw(ym &

B) The maturity of lhs;#nyml
C) Individual's value sy |

D) All the abo o

« 2. By géﬁdm AT HBWsaray L NS LUSTORESISE®
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D)  tpewd artissmnen s

White teaching children, the teacher mostly uses images to

A) Develop tactile images

B) Develop visual images:

C) Develop concrate images - .
D) Develop olfactory images - b
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3. Gyseagaadar sy aeridPuiar Curg, sPBod sl 1psSwinrer
wnpiisena THUB A e D

A swfaneciodsisds
B) @ewiigme wgub Oumgigisss

Q sianiupigsd wipuk Quinigss
D) smisaungged

In the course of the chiid's mental growth important changes occur in hisooqntlha@
structure by the process of

A) Equilibrium

B) Adaptation and Accommodation , *
C) Assimilation and Accommodati ®
D) Organisation S 38

alive Thinking

Perceptual Thinking 3
5. waGamapiPew s sandgh gravdsed allearay o ent uigy
A) Wi B) dphcenp
C) wsw D) @piceny
Thq evhoﬁon producing stimuli has a affect.
o Cumulative B) Positive
C) Zaro D) Negative

D
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ClaBSmp pgmpd Sard Ll s aigp Pl

A) a9 sw B) il ushon
C) mowir @0 D) wls
Criminal Proneness Theory was advocated by

| Hooton B) Alber Bandura
C) John Dewey D) Murray

B pevar 1o @ uen Qupp @efwrede Quaflifius, n@isanh Gaaing &
Bpip@adiug (QueeGdgd swrdaCu@gsti’ L faadd) sanp
Bumant_o_ b dr arens wew) Guirgm b, '

A)

PSP iy ob e
A) 'nw'ﬁ:, Qanmiei B) pmidiever
C) &= D) afdeod
According to the psychologist ______ counsalling covers all types of personal

situations in which one parsan is helped to adjust more effectively to himself and his
anvironmant.

A) Carl Rogers B) Robinson
©) Good oscm 3

[Tum over
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9, Rypdasin e ild e cug A Bt e &5 Gueril Gam. Styen st sy,
A wpdawd puriubisind
B) s Gaueravouanh
C) usd aenay srgmpasi
R 2

Which one of the following is not retated to study skilis technique ?
A) Preparing environment \3
B) Goal focused &
°Day-dveanﬂng 4 e

D) Activate your mi

10. .qpq-nc WL w‘uﬁf

V\Qe D) s

\ﬁ v o

1. Quwstsalar Fowose Penseenus yenw i Baliaw

0)1

A) g uRanuwia g useow B) e tiumpoa
C) e ydaid D) Oun@”um@

Striving to achieve a standard ol excellence in actions is

A) Integrated personality B) Creativity
chmm Q D) Adjustment

0|
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12, démgﬂmﬁy&dﬂdyﬁmﬂ&*gﬁum&unﬁg&@ub Slupas ausna o181,

Al Sarsivens B) ap@ewii®

C) st D) Quaggsir smiviny

Which one of the following does not come under the classification of Spranger's
personalty type ?

A) Theoratical

C) Political

The ability 1o register words and numbers with speed and accuracy is
A) Inteliectual ability

B) Percaptual ability
;.Q Mechanical ability i
Qo

@ . [Turm ovar
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15.

16.

' @MW&M;M Oaamsumsic Bt 001" 1y s Lg el s sTsdrenildena
Al 6
5}‘ 7
C 8
D) 5

The number of smmuumpoo:y of Higrarchical Needs is P\
A) B

N& {- |
&«m mM'médcwlomm means aftaining of maturity In social

A)  Erickson
B) Sullivan
C) Kohiberg

)
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17. ois 80 cﬂquimmcb.a.gdgmgﬂwdawcu it wRieR
8.6t WA,
A) saps B) »jerp
C) walays D) sapis
The person perceives things In their real perspective, then they have maturity.
Q 5o B) Behavioural
C) Emotionai D) Moral

18. 9@ wrewad 6 wiglsa gaRul LIBHIRSmmE sHRDIG My SHW
e Garn_ gy
A) Uzhoeny cusnsnay f&

B) 'S asns armarsy ‘ % L

C) Mwuww? "Wh

D) aﬁﬁmpm\{l

Ifwotnckﬂnproﬁclmcyncﬂvcdbya
then the obtained lumhsourvol%

A) Paositive curve o A
@ somwsema .\

ersin Qg e e aunigeng apsd sHpelsh LR Paers @ AN&R Suna
Flenagimds 4.H0b

) SR spnst |
C) S-O-Rappe

D) Grwsi® gybs Poanpiind spnd

Rsinforcement is a common term used 1o represent the raward in
A) Classical conditioning

B) S-R conditioning

C) S-0-R conditioning

o Operant conditioning

RS

L}

[Tum over
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20, “giifeer upe sdng GLud@sg. b wHp Lup sl Onie SaayudsRe
S Rman” araGer Gam L’y o erdieuana o gairisgenins Reidam

A) soigimadai B) @eemiicy e @emis
C) &1 @ s mandah D) @amar 2 menrdat

*Narning apple as fruit and distinguishing BMWWMmmWOI
formation in Gagne theory ?

@ Cancept formation
C) Visual formation

B) Associative formation
D) Verbal formation

AW

21, pwafwad wap Senwelpstew siurar ulswrw e

Oaii@a@mdnab.

A gewaaiud
B) gyafufurd

[ 1] w
Stage Stage Stage
study of study of study of
the mind consciousness  behaviour
study of study of study of
the mind consciousnass bahaviour
study of study of ‘study of
‘soul mind behaviour
‘study of study of study of
corsciousness mind behavioyr

-
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22 Gamgiie @ gengsfuner ailsn_sw OsigQudby frdnde sy,
9t yfallwed v (PRt oo srapgBear snaanfig HNFeT LnsKsamwd
sitiaSpmi. @asnor @ Tt ——— 2 malwsd Gar Uil e LWAUBASWETS
el

A)  pwdaler panpwrer sigensd Sanund

B) Oaoidar myh) indpnd genaelda G Lo

C) Quavnin’geirglan R appe Ganin@

D) Bk i R ""'“
Fill up the blank with suitabie answers from the choices given below
Amummaﬁudmammmmm
that the teacher adopts thes
A Hull's systematic behaviour thec
 frovtangn. . 4 o@'
C) Gestalt theory of insightful learning
D) Jung's psychotherapy ‘
23. uogrewiey Gail sl _ .ammwwé BTN
uRewns Qe wwrew, adiws Srualudun® aw Daiaids
ar Qurusd arsirar o
v
Wmmmdmaamm essantial, biological
of regarding it a shameful, dirty or bad.
A) EL Thomdike
B) Kurt Lewin
C) Jean Piage
e Sigmund Freud 3

m ITien muce
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24, wagd Hleve wooewL G GuolupudBeangrs sy dsy o0 reiw s e
AT eEILE

A)  rauiasi gt SUTTE L ASUL B

B) avevisdi @evenn Hseawns se s B g

C) mowisdr Glaypidapadas suons BLSsl0udag

D) meuisdr gpdanpuosBarr ydwy anugy apSamomaBaun acpslu amgine
Transitional conflicts are often faced by adolescents because

A) They are being treated as adult only

@) ey are being treated as child yet i
C) They are being treated as hated persons
D) They are being considered neither a child nor an adult '

A) The social maturity,

C) The sexual ’m
26, preswsenilay & e (o pEen s
A A ,
TewRIT S

D) Guengsen
having the 1.Q. level of 120-1401s
A Superior @ very superio
C) Average D) Genius
27. '@ srgenfia Ganc L@ sPupaioPER s
A) srewen & 8) Qaviart
C) e PwiGoer D) @aBumih
"Twio-factor theory' was advocated by
A) Thomdike B) Vernor
° Spearman D) Guiltord o

o]
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28, Guongfurmboe yeswemzing 2 wihs Fenadsl o daralagnds Qursgsietea Samfd
A) sy Guangsar
B) Qumgwrenias
C) allenenmim 3 afgissh

D) sygsamavisd

A suitable profession lorﬂupuuhmuquMOt'Lmnc Imelligence’ is
A) Matnematicians S\

o
R
T igeh Sein_ensumdr sThs arenanish o sa®na ‘3;
C) = wiggisid 0) @enpassd
Rewards and punishments serve as
A} Intrinsic motivation Q'Emw motivation
C) High motivation D) Low motivation

@ [Tum over
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31, "wenPwren G!u @ g@uuam nam.mw
s Bane wra® A :p%;" - Q)& @ pal s w5 QUM w7
A)  mren B) wai é.:m D) Focuy

32 RBGy e sveman st srg oun e QuUnmAE L By AR
A)  mspparnenod griigi Fed Surass stbamne — ayemainy,
Q @i Gurgdsst saa — Gpang
C) Q@wmmdpwummaﬂw&n&gw Qman;
D) peinGp puiiS Gy aumbbend e

33. “enda Qumgyera g
win

A) aﬁudﬁnn&ﬂowmt
B) @oem_mb Sapgennalif
é Qan@dhae ai‘azmia

Om o, Qua‘ﬁuq wgtns, §)emen ey
if B, Seye. agrens, Qe Qerewer -
Qumflcn Guumman, sy agiems, Gose Qe

35, Lewew + gendo’ - @iF Crapssir arsial Baall dnug. eawoy 0

i) @ » @ and werayb...
il) o s Guoe e ®raddsranma: Bud Ty

B) ) uswaw o miauyd ausirayib...
i) o.t_sb Guosd n uRisugamagye Bua3y

C) 1) sadagieo woeirQamnd gyad daud s Go” Gub
i) ot & Brosh 0.7 us@sospieu Bud-Fu

D) 1) sdiaiere dwod G (- (B §Bub.

) a1 e Gwev s @iFap@arangya BwaGu
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38, @ovg pevisnar i airamp pre sgTelier g 8 e

A) w e e &I TE W
C) wnelignesis D) b sibegs wpelurd
37, gy iaRurw srenn gbRed Qeodalies alprdsd gops.
A) el ey ‘ B) wd@aun’ s mimy
° Famaeduret gyuiay D) aflssresliarh guisey

e ) SemilyScranis sraingy oS X
° @erevicenaid &7 gk aﬁpﬁw

40 @;i Ama
B) Gsrpmped '
D) wed
4178 ‘Muudrn,ciuu IW‘U‘Q&
‘ cpanaisan @G Quwiged B) wrenenmsiv @b Qererige
C)  sngubeysen Ge ik Guwiga D) Gueasiser (e th Suurdged

42 OmyudiRer sigy et svad sy g dsshaas glosin seg yenpuih Qe Lifls

Quppai
A)  Qomongymib B) updpen il apbenioeint
C) yaen Gspan Gudl Wgyh J

@ [Turm ove
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43. afemssnw guplisuBER sfwreangs Epiay G '
A) Carpils apdgiomedsl ’s:
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ureiveipTR Saupupen g
CgnsdwenL pr® Grngisan g5
B) OGoumo® srerGommenihs
Fanp s B pdaien Al
unrsimg sy Sengyene g3
Saraiment 57 GanpupenL g @

: o Qagmn® Faupupent S5

Bampsty Sengyen_ s A
ekt Uy (pEL S @ '

O
45, ‘unsal® ereirug acOsng aﬁédc‘udc'v@g(gﬂ ey Suaindgeai

A)  Siisi rRDLTE @ s2ef0uin sallel

C) Gasmuigss D) sfeecmiged ,U
48. Gladip @ _ann GFwaln BOsr g

e e gyarou sday -~ Qo @ b Supgrerer sy Gl wg 2

A) Omiugaiens senG e

B) @eralas syerGiieme

C) epparduenc

O Goissmsmartom (Y
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47, ‘e sigh UESS et o pruysdr o s,
o ugh. digh. Qe Faww, srimu, sES, ahsm
B) usf. Vsl G feanw, ap®, Slarmd
C) u@s, P, Qe fansw, s, silanns c
D) usk, dgh. avfow, 538, srfeow
48. Ry o cramaydgysie orgr sarpns) Quamdsl Herarg
A) spedurg Quat - ang e el See

B) sndwamg Quwui - gangred snGper
° gralwng Quut - gm 83T arshar ailese 9

. \)
D! spdsramy @mur! - Boyavdrapamsm s LUy dmrwr 7 @ ﬁ

48,

wHpih rp sl L afiwenp Suwlgdsd 0

daiin L suppe e wnnaghRellsis g’ Férers. aw‘a ?

& B) ways C) s O

52, wavausngd #ngn af Basb @edGa - @aany Swn @ Gn hidans Qudsavd gioy
gy -
A)  @rene md Qaypprenie o ’ @ rew_mb Gappenug Sarma
C) sp@al e afhweanp J D) Gangfd Quwt

53, ‘upsir ¢ pengy’ - evaauagy e v
| (ipevrewraiTgy » B} pshansingy
C) e ssigy D) (eansipy
L] (Tum over
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54. B3y a sienardpisit srgy seuprat’ Cluamdscs o Derag
A svisTed - gyeend, LT 18 &)

B) wefisvans - BOUR, srigRena
o Gedweiipsrad - gyafl, gpq -
D)  uper usfldsmans - wriml, sns

55. "QandQands sibiph Liheudss oHmser
GpQards Fida G gm' - @égpafed G id Cupgysrar senl wng » S\

A)  aRg@aam G s oo el
B; Qp.wwud
- 6\ ~

D) @sop i 8

BUDIPpE gamwii
B) s®emr Gaupleiena

B) siulsremb
~ D) Qedmwew

LoavsGame)’ mugmdumpﬂw Qcmivawaah_ﬁn

‘ O B) Bistw Bewrd &
Ghuuuumaﬂ D) @ QUi
89, QOperafiiRuraler obsde waniysg Qubn e
A) Du@ssGaes (S B), sadgihgiy
C) wsvafiwngud ey
60. srsb®Gausi e b oet :
A) = gawew_anb ‘O&ma_&tm&: Q

C) Qe weanmy D) .puianigy
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PART -1l
ENGLISH

There are 30 quastions in this Part. All the quastions are compulsory. 0

81. Choose the correct senlence.
o Two of my s«sters-n-law are staying with me
B) Two o! my sister-in-laws are staying with me
C) Two of my sister-in-laws is staying with me
D) Two of my sisters-in-laws are staying with me

62. mmnmammmwmahmmmnnw\;

N\

I\

<. 4
63. mmmmmm&a«w

He isan of the u:mole
* B} alumna

0. alumny

c) @lumn v\ D) alumnus
B4, Flllmme% correct form of the verb.

o Thursday. Byt on Thursday | had terrible cold. So | decided 1o wall 1l

: ¢ : 3
was 10 have left “B) amto leave L
C) would leave D) wil leave
B5. Find out the pair of words with the combination of ‘adverb + noun’.
A) Dark room, mad man ) cnowmggun.du\clnaom:‘/
@ Upshot, foretinger D) Search light, play thing
86. Factual descriptions of an avent or incident are called
RAeports B) Articles C) Records D) Registers

D [ Tem aver
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67. The return address refers 1o
A) The editor's address
°’ Sender's address
C) Recelver's address
D} Principal's address

68. "0, ye wheels'
*Stop ! ba silent for today.
A) Simile
C) Personification

69. In which of the

o Mark of brackets
D) Mark of quotation marks

72. A paraphrase of a passage should be

o Of specilic length compared to the original passage |

B) Much shorter than the original passage

C) Much longer than the original passage
D) No hard and fast rule for the length
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73. Body ianguage is considered as vehicke ol communication along with voice and pitch.
It one leans forward It is Interpreted as

@ Wishing to get involved
B) Feeling uneasy :)
C) Lack of confidence
D) Showing restiessness

74. Which is the "longest pause” ?

A) Apo '; o
c) ; v‘m ) - t';
\ /..' P
75, The phrass Vsl Ch

A) Euphonymous w

on tag to the given sentence.
our teachers . . .. v

A) Shan'twe ?
8) Won't wa ?
° Shall we ?
D) Canwe? )
78.  Fill in the blank with the correct auxiliary verb.
— " ourteacher come late 10 school.
Q o B) did C) have D) had 3
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79.  Add the right prefix 1o the word ‘feebie’ choosing from the options given.

A) -im B) =in

C) -dis- 9 -en

B0, Polar-questions are
A) Yes/No questions
B), ‘Whn' questions
Q Multiple cholce questions

D) Short questions

81. Collecting food for cattle Is known as ; % i
A) grazing B) ioraging )
Q fostaring WD) foraying
82. Which pair will suit the tMun:enco ?
your fongue or you MII keep spoiling your make-up.
A) Brigal, bridie 4
B) ' Britije, bridal
A Bridie, bridal
D) Broil, bridal
83. The phrasal verb ‘peter out' means
A) Send peter out B) To decrease G
Q To urge D) To progress
84. Suffixes are usually
A) unstressed B) strongly stressed

ﬂ weakly stressed D) stressed
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85. Select the correct active voice of the sentence.

*| have not baen informed *,
A) You will not inform me B) They will not inform me

C) Nane of you will inform me 9 None of you have informed me yet

88. Extensive reading, If properly guided will

A) Creale love for doing exercise
@ Create love for extra-reading

C) Create love for writing English

D) Create love for listening English

Qo Walandmg responding and interpreting
&,Mcn statement Is mcomct'?

Acronyms can be called as alphabeteisms
B) Acronyms are pronounced as words

C) Acronyms are formed from the initial letters
D) Acronyms are antonyms to abbreviations

| -
80. Indictionary V (pp) means
l A) Varb present participle B) Verb pasttense
| ® Verb past participle D) Phrasal verb
E | Tum over
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uER-IV
PART -1V
difiay—~ A

m -A
MATHEMA AND SCIENCE
B0uz S G 60 aienrdser o sirares. md«-mi‘gqgcb ailent_wal e 00«'00@.1‘2‘
Thera are 80 questions in all in this Part. All questions are compulsory. ‘

9. Bydaviv adpyeir sigy OudGom mnds Gummsr
O B e - C) axpnbefeib
Which ane of the following 15 & tgiroma '

A) Bismuth

o8e2.

B) e’ L gPeir Sl oy

- T

eﬁymbolforsmni!olmﬂbmp )

The symboi for S| unit of current is am

D) The symbol for S unit of curent is a I
83. gl e Qumgedar ayddw Bammeons Lgays »

A)  Bawsssr B} awmydasic

°v.&.ueumm D) svenenigid

Sound travels faster in

A) Liquids: B) Gases

C) Solids D) Allof these 3 =

(o]
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94, s+ Wpsrar gfarnBadr saunddmd ———— wens afenan T,
Q Sauiw e 1Bg
B) Qaniu Damsir o
C) gafifamsdas
D) FaBa®
Respiration in living beings is an
A) Exotharmic N

= e@‘%

<SIT “ . __zt-\:‘q.

o Gavr unmu; Wgwng
Sl et aawaniiy e o T4Eh
HF
‘ D) H8r
— be stored in glass or silica bottles as It attacks bottles.
—zagia B) HF
)  HCi D) HBr

98. AABCs ZA gewg 2B g afl 24" yBad Suwgyic £C dr Gaal s Bsremb 108" svaflel
ZA=
A) 48 B) 56" er-\) D) 76°
In AABC. the measure of £A is greater than the measure of /B by 24", Il the extenor
‘angle of <C s 108°, then £A is
A) 4g° B) 56° C) 68° D)y 7¢°

D! < [umovar
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97.

|

768 T .

S8 GFOERC L yrswrengy B e diselid 0. 8,880 5 sayhd cu(gc. Mol s o, 7,920
Mpdayl wagying sratar e oy adgik 3
A) 5% B) 6% ,

c) 7% 08%

Acartahsunotmmmommna.&mmemrsmdm7920h4ym
Then the rate percent is

A) 5%

SR e wguh
FHATHih rewrem 0
A) 32%
) 12%

wdant sahagk 55 students like basket ball, 75 students like
foot ball, 83 i [k 'mmmmwhmmmu

B) 42%

& e

80 @..8. Jansieb Ssbgwic 90h B haial 9@ @B L gridensS wonf Oaoifsb
aARnE. 05 grudens 40 5.2 Sassh@ab Qasiyp sk, srsiraiaray GuodSebs_hgins

AT @ 47 C) 8Yhs D) 8 hs.

A car takes 5 hours lo cover a particular distance at a uniform speed of 60 km/hr, How
long will it take to cover the same distance at a uniform speed of 40 kmvhr ?

A) 835, B) 7)ohs.  C) 8 hs D) 83,

- -
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100. g @prligamus Gy prhsner peadgmaii Ges apeny Bu 30 B srmeir, 40 $ebde_sisaf b

101.

PriySeapg. wHlpra gpw fi Fobdie Opr’yow 24 S dasie sred
Qadsapb. Gam iy sreluns Qi @bapdy Gpmissanis 93 -tde B
@l oo s ygQsm iy eidgenan o) Guad S @ mbeyh

01.“-» Bl 2isend
C) Buvend D} dioesl

Two taps can fill a tank in 30 minutas and 40 minutes. Anathar tap can empty it in
24 minutes. If the tank is empty and al the three tags are kept open, in how much fimé.
the tankvill befiled ?

A) 1he. v 8) 2hrs, A
C) aws,_ /. ke D) 4nvs. e |

B) Weak nuclear force
D) Electromagnestic force

D) Bewarpsafams Q
thhmogw waakest force among the fundamental forces of

102. “ gdp wfuiuC L savdBRaEnds 4 ofmmg sTwiRd agudnn’ L e

Biyibu) Qupiu@Rpg evaid sl s ia Sume e wink, (@ =10 ms2)
20m B) 10m
C) 4a0m D) 2m

AunMwbuugmbyaMQdem The haight to which the
‘ball has risen is (g=10ms™2)

A) 20m ' B) 10m
C) 400m D) 2m

[Turn over
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103. w3 pgid @epurs PAGrmb adid vuSLEEFLUBRDH. oGl aw

A) wepds dinen asire s wy

o B2 psPowe mus

C) oafBe gy fabsraniS e o wmarngd . ' )

D) sremengand

Nichrome wire is used as the healing element because, It

A) has low specific resistance

B) has high maiting point

C) is easily oxidised &N;
D) allof these R a0 e

104,

| QT - 13 ~ ol o sivalluH s J
' 8) Transformer
D) Van-de-grafl ganarator

mau&q Fadpb'A feo @@ﬁg Boigmb B 4 Opidan B mengulel
4B, Jweal srean GausgBed Quamng, Landw Poigsi N &z 60 2.8,/ wenf

cravp(hmﬁﬁé PyhyRos. a_;ﬁannﬂﬂﬂc_uocm
A} mf e'fso .8 fenf)
C) 458.e2./1oemf D) 558%L /wenh J

A train travels in @ straight line track from Station 'A' to Station 'B' at a speed of 40 Km/nr
and returns to Station ‘A’ at a speed of 80 Km/hr, The average velocity is

A) zero 8) 50Kmr
C) 45Kmr D) 55Kmir
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106, gaflimlaic gyl srandBelom o e gprisbe sgpnb o Buwooshe sunhia
LPEoy. Qa a3larmud galufiss vuduPRy »
A) ' 1wGalun \ '
9 Busw Gy 0
C) Bawd ;
D) wer uydad
m:wmmmmwﬁmhmwm
A) Maiaria q
B) Hean Disease
C) Cough
D) Mental Stress

107, gy svrdigSasi, uy&;ﬁv w
worayaefia: §4 gyareaid Gs e
aTew RISy .
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108, Quimibuimactar prariesdr aad soiyh peirein Qo snar. bR Lderud
o sveng T el # e idensulien apas Fmetada s smenad guafARidn o, L
a1 e R SumaoSuib s e sy srew seml Gy

BuorBemmgarn B) GQuiGafun
0) sevgilia D) whebad &

Most of the green plants are self dependent because they synthasize their own feog

materials by photesynthesis. Find out the angiosperm piant which lack chluophylli“
4"'.! -

A) Monotropha B) Petunia
C) Cuscua

100. umamauawuﬂu

St @i TS
A wanleaBaBy
o avarc s BBy : ljﬁ 4

The inability of a X student to re
A) VitaminB,, 0"@
C) Vitamin v\ D) Vitamin E
110, effwg @ & pfdpder S BsPwd Pengd g Oumar
dC)

‘. amaflund

C) wagaed

D) sdmbud

In Bioremediation Gibberalla fusarium is used io break down
A) cyanide g

B) cadmium ?

C) mercury

D) chromium
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M, g@Guwralun @iFename®, Comgand gGarrap® Goeipg 2 sen smasme
o palldsal By STAQEDEE wsn b afwrer yomp

A) g ﬁ)' AT arey gk

C) (Seboew wrisi® any i @ Lipicsiipde

The mixture of ammonium chioride and sodium chioride are separated by &—3—
method. : :__

A} Crystallisation B) Distillation o
C) Fractional distifiation D) Sublimation

112, 9@ saoeeddrmapl préenss Huada Soda0.01. 1079 M. safls

D 3
o , 0 ., ..I"V‘ s 5

+ NIHDY —» EOTLETE SPRDL JaR e

Bgeiv+ L ARger —» sriusien. yisiie Forad o
Which word equation corractly shows how methane undergoes combustion in plentiful
supply of air ?

A) Methane — Carbondioxide + Steam

B) Mathane + Oxygen —» Carbandioxide + Hydrogen

C) Methane + Air — Carbon + Hydrogen

D) Mathane + Oxygen —» Carbondioxide + Steam

@ [Turn over
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114, Rgpacim e Paneo x Fovns sywaiimedis, g ariensulic o srer sy af wel dr s F
QU1 unengeia sravie gl spenoty 360 @h@Andl . arfans
ausih. (g sreirMn = 25, Fe =26, Co=27)

A Mn*, Fo?*, Co™ g
Q Mn?*, Fe, Cot*

C) Mn*, Fe?*, Co®*
D) Mo, Fe', Cot

15. 2y

e’*&z o FGQO‘
‘MgCO, —» Mg0 + CO, b}
D) 2ZnS + 30, —» 2Zn0 + 280, : '

Mmdmmllm.mbmmugmmmMm?
A) 2Cu+ 4HCI + Oy — 2CuCl, + 2H,0

C) MgCO;, -» MgO+CO,
D) 2ZnS+ 30, —» 220 + 280,

—

In!
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118. E’ig_& = 4 o X stoRiie

A 18 )
Q- D) 296

n.?%..“'—’ia.mmmam

A 16
C) 256

17, srg wiftwrtengdbm 7

4)] Y 5 [4]

D e e B B

B2, 111 5D
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18 e % Y )2 @i Phug ag »

M Y 0] Y o % o) He

Which Is least in the faliowing ? &)
e Yo Yo 12
L 8 % ¢ % 0 e <

\
118, i ie Ruds garg@e A0, 0), B(3, 0), C(X, ¥) wpgub DI0, 5) sreisp.
Ordiadans gianraC(x, y) Srsfiny &
0O e P B) (53) 6@ ‘

lncamiianplmm 3 A “ , .ﬂmnm.

then Cix, y) is
A) (3.5) e 8} (53
C) (-5,3 -\0 D) (3,-5)
120, i’ el o oy enunwidE e Oosrene.sramayasileis & (5s s
)% B 180° ) 270° o 3607
& angle at the centre ol a pie chart is
A) 807 Bl 180° c) 270° D) 380°

121, 2,400 5.8 Paiens 12 Sauemansn s 10 paseld o.aps @goud 5400 #.i8,
Fadons 18 prsefsl o apsus o eibsemer Gamantl g Sgamar o
A) 10 . e 15 c) 20 D) 25

It 2,400 sq.m, of land can ba tilled by 12 workers in 10 days; how many workers are
needad to till 5,400 sq.m. of land in 18 days ?

A) 10 B) 15 C) 20 D) 25

o
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122 spaiisin garGacns wimd gaisiDard 0. 200 m g sy rawnd RS gy mupasnie,
Qorgni@ alamt. wpw s sy i oe.13,830 Quidart o e, i’ g @Rz

A 4% . B 5% 8 aa% D) ™%

, 'P.-.;"
Ashwin depoaited Rs. 200 per month for 5 years in a recurring deposit account in a
post office. f he recelved As. 13,830, then the rate of interest s

Al 4% B) 5% C) &% D) 7%

123 paemupler piidlany udsdmand 50% SDSDRn1E, sk Undisay shsmes

e sRaf A o ,.
A 50 B) 100 @szs' : |

I the sach side of 3
atea be increased ?

A} 50 8) 125
124, @ afen kB Goek yltssmissr bﬁv 0 e . B.600 pp ey

mpmf‘.'. S ST L1 HH A [T g wn @
5. 300 i Guuﬁp‘rﬁ T @w A O prens arsirew o

A) Rs. 1475 \ @m 1,575
’ D) Rs 1,570

C) Rs v
Two partnocs

5. 12,500 and Fis. 8,500 respectively in a business. If one parmer
more than the other in the profit, what is the total profit 7

B) Rs. 1575

D) Rs. 1570 \J

) Fs 1675

125, g edavai e @enow cdsdinedor m G 1B Ont, Shsuh15 Sl ol assi
LnrCi ey
A) 105Ge.®  B) 1150k C) 1250w @wsomﬂ
The sum of paraiiel sides of a Irapezium is 18 cm and haight is 15 om. Then its area is
A) 105 em® B} 115cm? C) 1250m? D) 135em?

@ [ Tum aver
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126. Cleit g Panp35.5 Ramih/Gromds eraafl s @ Cl vgmpailens Panpy ————— gy i
A) 5.90.10%Kg &
B) 590« 102Kg O
C) 5.90 .10 '

127.

A) 590 . 10%Kg
B) 5.80 . 10%%g

C) 580« 10-%g N d\\;
D) 590 . 10%g - e 4

Lndiy Pud Qads- 16781
A)  saugen

( &) Fung
I.’ . ‘R‘/ ",' 4 .
] pe 1 AT LmES pempaeomy) s BER P LadfC o,

ol

b araugmiaer e alfiug sarewue gy, Qufu seilsspeayd, Seive
Asenareyd, Quiu iy, Fevaada, HBseray sidams SuravL afensas

C)  gudermiug D) aysingysfemmiig

A farmer planted apples using plant breading techniques. These plants have resulted
in the increase In vigour and frull size, large rool size, large leaves, llowers, more
qu@:wmmwwwdmmwowhmw?

A} Autopolyplody B) Allopolypioidy

C) Euploidy D) Aneuploidy

4
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129, 80y SarPdsiud L soausaye s sprear @Gar G mmﬂw

@i d1 e iiena, P o Bk Gauglpn” B srasedGRng. sysms man@ by
A) Fwrtoewe 12

B)
C) uiior @ m

Three of the tems given bdowawdahdl_i‘ffa‘mmm.,m“oﬂttnsm
relation with tha other, Find out that.

A) Lomentum

B) Cremocam
C) Regma

130.  saPaenar s nmmd o0 UGE Mu@&ﬁu allenwray

° maﬁ‘w&g&aﬁdvﬂgud; b find &“

06\34» +5%% 63¢73083093i§mn” :
i i _

C) 442 @452

3+2a+33+43+53+63+73+33+9’3m"0

A 4zt B) 430 C) aa? D) a5
132. 998B000T s suidasapevi J

A) s9m o 9599 C) 9199 D) 1989

The square root of 98980001 is

A) 9991 8) 9998 C) 9199 0) 1999

D]

[Tum ovar
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133, om”z;’i e Bpmames iy - 1.

A) 53 e 05 . . O 50 D) 0.05

Tha approximate valu'aof 39"“;.%?2;5-

A) 53 B) 05 C) 5.0 D) 0.05

Bai. s .
134, %gifgge‘r & @y

A) ©
@ Ui e

{1000 -¥88
The value of W_—gl y Y

&g
Al 0

C) Undefined %
185, @apii ag Qumniymn el T

8 not reiated with others ?

1
C) 033 @ 335

2

gy B 13 C) 033 D) 33

136. ais Fanevda ara®F e sl ety Qest Afsma H a8 aaidSpg v

A i 0mbee @ QL e

C) wamdena D) wOwrfaw
. Caichicine stops mitotic cell dnvumaimhme?,)

A) prophase B) metaphase

C) anaphase D) telophase

IR
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137. @uasypp Gs T () 01 JSLD TENT -, oW ST o0 _)
A} L-anws B“ srruB -2
sup mhak || D) @

The oncogene responsibie for causing blood cancer
A) L-myc B) EmbB-2

C) Hoxll D) ret

138. Qap @Levdi_sv e wil & asug srds alsdi® o sy adusb Gluwd
A} gessya @ 7S wmenan
C) ¥auih D) wpsSeafi G amrard =N
Herpestes edwardsil is the scientific name for
A) Garden kzard 8) Mongoose

C) Spider Q)  Fruit bat

130. (@ eam B ognen w Saeh afsns
G i D) Lo Bl 1am B) sFav Sy GarnyGw
" A
Cl] ardiew ﬁ-&sqa ' D) anfev Soewed Gl ugn
Stinging natura I8 more In ana of the following bees

A) Apis Corsata B) Apis forea

C) Apis Indica D) Apis meiiifera
140. QuindPwet 1o Bafwrsea Sanhged s sogent
- . " s 1 - . . A
A)  Fsmaev B mywid eaauaiTdan B) SemerBwrywe Paa

~ a 2 . > .8 - X . 7
) remme Ao mg i (ol a&r e 0 INSTTSVLILL TG WD o 3L TEUNILI T

Perinicious Malara |s caused by

A) Plasmodium vivax B) Plasmodium ovale
C) Plasmodium malariae D) Plasmodium falciparum

www.tr btnpsc.blogspot.in

www.arivukadal.com Cell No : 98651 30130
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141, Bpdseivauhde sigy wdpenesall o m g Loy 1 5 !7

A = — €) o D)

@ . fim 'S
Which one is differ from others ? g
A n B 2 c) e D) 2

142, (10x+3)+ (10y +5) = 11 (x + y) eraaflais(x + y) = ?
A) 2 B) 3 -
It (10 +3) + (10y + 5) = 11 (x+y).’_lyn(x+y)= ?
A 2 ¢ N C) §

"o |
e ag)
e by 3x + 2 then the remainder is
2
()
3
AH

144, Bipdasn aipfa ag vsogrmiyd Seramaudia 2

QO B) -12x3+yz?+ J2x
C) -2xy2+3.x D) 3x+7

Which is not a polynomial ? J F

A 0 B) -12x%4+yz® + J2x

C) -2xy2+3Jx D) 8x+7
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145, (@f?‘%*(‘;}y‘; G oy \

Q’z«’é B) J2 ' c) 2 D) 8
The vaiue of (2)9°3 , (3) 3

A) 242 B) V2 C) 2 D) 8 o
S

1468, 40 o2 x 36 o senaymamenyent w1 §oF Dedsars auigas anuslicn g apeanda

- B) 1246m?
D) 1288m?

et auigafamen 9cp Amdy sk fefic g oub 36 oM @ 93 207 oy aflsls aenend
H P ng evell o) oy #2788 o LibHLD
A) 35cm B) 45cm

Q 55cm , D) 85cm

A copper wire is in the farm of a circie with radius 35 cm. It is bent into a square. Then

~ the side of the square is ;
A) 35cm B) 45cm
C) S5¢m ! D) B5em

@ . [Tum ovu
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144. & @@dzqa{ sibifarrag uLdR&® o drarainy g0 wWwiSsrow wyais wirjpé
LBty @es Sop s@ir anug ol arenad@mid GLTg sk b Ldae B sreier »

'
\

6om J em w
, , 3om
Q il N\
C) Bam A\ D) 7em
A rod is bent in the shape of a riangle as shown in the figure. What is the
side if it is bend In the shape of a square 7

149,

fallowing is calied as the golden ratio ?
B) 1:1.6
D) 1:48

150, auupadlw el shiens e o

A)  andy e gydad | )

C)  wnderiaen D)  omangyageb

Who Is the Father of Gaometry ?

A) Gauss B) Euciid !
C) Paul Erdos D) Ramanujam

ol
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PART - IV .
Sifley -8B -
SECTION-8
Frpsafud T Sse
SOCIAL STUDIES

@UngR i 60 allewrisdr e haren, geraoggy aferrissns@it ale e wellda Gosmu@.
There are 60 questions in all In this Part. All questions are compulsory. W

91. Quiw Qumiy umcra”‘p&uuu@m‘a‘ - q
A b @
C) yani Ten 75 D) oﬁQa& i @

B) svawtei d0ym i ib
D) yuéBeGrena f0gn b

B) Canarles Current
D) Equatorial Currant
93.  adirenda penL Glugd arsafadh
o e % cuemflned- B) Qpieneow asnfisd
C) w@ensn aueniiawb ’\) D) swaeniab :
The trade that occurs within tha limit of local is catled
A) Rural Trade B) Bilateral Trade
C) Multilateral Trade D) Local Trads

[__9] [Tum over
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94, plppmge Sl Syrelund o pLdSwags G 1b

Q Pyt B) @m#Rgmiusied
C) Gamuypdgr D) Gersoaney
Which one of the following is a producer of Patroleumn ?
A)  Thiruvarur B) Thiruchinapall
C) Caolmbatore D) Cheannal
. <%
95. wennis CrawaPamen s enw Bundgamgm woenn
A)  saenas Gunsgsaugig o B) @odid Cunkgas
" ’ ’ s
e g Oun&@wuggf m ‘ D) airsina
A) Roadways - )@
C) Waterways P @
96. @i mienui Our’»a _ e QupS 0 L Sy dans
A) emsoumi \ B) ymssr
C) e “ o iy
‘ ng war came 10 an and by the Treaty of
i B) Purandar
) Mysore D) Mangalore
97, wl Cumbweingd®el G, @b
A)  wrenenud Ssmsn B) @omearsiyg @
C) wgew Qw
Kattabomman was hanged 10 death al .
A) Palayam Kottai B) Ramanathapuram
C) Madhural D) Kaiyattar
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98. Guwaq;a_dm Dan 1 ndsanar LNSTL DS Lo QS @l

° 1858 iosnyasiladsi

The Magna Carta of the Ink

namair crreir e : B)  @owesd v’ sl

C)/ Limga i b’ D) - it B

Who was a first Sepoy refused 10 use the greased cartridges ?
A) Mangal Pandey B) Rani Lakshmi Bay
C) Bhadur Shah D) Kunwar Singh

@R w waxeldra Nenn ansand oo yenpiainiag

A) 1773 gugligupap sl cib
8) 1818 ucund &

D) DG r-wmaie SO

A) 1773 Reguiating Act
B) 1813 Charter Act

. &e
C) 1858 Queen |
n > mﬂgmﬁﬁ?&

&
i\ » - .
. D, g

—

- g

The indian National Gongress was founded by o

A) A O.Hume

B) W.C. Baneree
C) Mahatma Gandhi
D) Subhas Chandra Bose

[Tum ower
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. Py se sgu yuada Guay anall@mawdds smads yodsmd §mahsi

QavadiuFais a S
Al ol Clamf erme 0 amaianad Eardne e ."
C) = Qanfparenar D) sriEisd Qamfpsramea
Thunder storms are accompanied by many weather elements
A} Iron and steel Indusiry B) Wmmry
C) Fertilizer factary D) Paper industry
102, wrpaliean Gazmasama fape Grdu Quwﬂgh Qupub
Qg senemajth ————— a3 pmi. q

man to provent soil erosion is -

W erosion B) Cultivation
Soil conservation D) Plantation
104, ea@d Qpda puiBde @ ree nb G o allldgd pri
‘ SdPan . B) Wewn
C) @Gz dmafur D) USA
Which one of the countries is second place in the production of Paudy in the world ?
A) India B) China
C) Indonesia D) USA.
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105, sdor i@ wipud Quipsms winy safiulisi a@ds LustuFagud pn

ymen Bgé ypenp B) Gupuadds Ganly ﬂ@lg upann
T) Bois Fael e D) wilssissmns siBidge apany

The method used 1o extract minerals like oll and natural gas
B) Surface mining
D) Strip mining

‘Which 18 the basic unit @ 6

A) Famlly

C) Economy

i Sunf) ﬁm)pmu_qv
\ ] B) ams

‘\ ,, D) swwSagmi

& song “Vande Matharam” was written first ?

B) Urdu

D) Sanskrit

108. 10 syaug mimaeinds Bk srpemaw e wiks wpaRuspais SoTGHas »
ol e suanLe veanth B) $duwum@wnani
C) pml® augpomend D) afsusTw e Uk

The main objective of Tenth Five Year Plan Is to raise
A) The per capita Income B) Family income
C) Natlonal ncome D) The agricultural products

)

w%l 3 k ' -' ﬂ"‘:
r ¥ 5 | B) arfwsh * A
C) @uurmsnngroh D) Sgmeh @
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109, ongpw #uun gremanwr o powad Rpdasin_aisamnd SaldGa@dars LHEnH i

1100

m

pghus oL & g CrFerdadin :\
B) Gaund suore gyufewisein
C) Bywamggmsvan
D) @ -wenars grinFenise

The Deputy Chair Parson of the Rajya Sabha is elected
A) By the members of the Rajya Sabha only
B) By the members of the Lok Sabha only ﬁ

C) By the President _ @ 3

C) 11 4G mui2005

The Right to Informatian passed by the Parfiament on

A) 21% Octobe \ 8) 21% Ottober 2004 v
c)y n® . 20 ' ‘D) 12" October 2005

s miEein sTaLIG)

udlw yerald 2 HLAR B ok Garer Opmnfesniser -

B) lswnen sy 2 HLgS Qadiyh SpaHeondimar .

? A yenald e JUFR Codiuyb OpmpPaniissr A Y
) iBasi iy samele o HUED Gudinih Ols T e ssain

Computer Industry Is

A) Large Scale Industry

B) Medum Scale Industry
C) Small Scale Industry

D) Vary Small Scale Industry
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112, il e sswaemv Germin e Qugoaralls 8 e &0

A) s Saemydi LGS . 0 aevL R0

C) asswsxiiey D) @pace 0
Abundant food for tish, piankton is available

A) Coastal area B) Continental sheif

C) Continental siope D) Sea flcor

13, Bpoy SR8 030 Gy eRRaiBngd Gen. Gu o drar Gaigin® !1

A) iy ePRmd B) @iy PR @

B) gpawand wppih @amye syeunticy

B) Capital and Organization
D) Land and Capital

115, “Oausnads L@y upenpisn ' NFupstuBiBuat

A) iordeped 9 B)  Gavweeh 1S
C) wmsb sayeSarsdbasir e A h wufig

The concept of “Division of Labour" introduced by

A) Marshall B) Uonel Robbins
C) Paul Samuelson D) Adam Smith

L) Tumones
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116, @dPw N sensvafsie Ggm g eb

A O L T - e
9 @Cans - . D) gt
*Cradle of indian temple architactura”

A) Vangi B) Kanchipuram
C) Aihole D) Bijapur

17, wpaant wGsiBradod @ igé Canren L' th

Q v
C)  pig Damesn. mair k

A) Chmauarapm
C) Mudikondan

18, gyl QuiiFurg 6 ‘
A) g - \<\ ° Bauunma

C) @

D) wsuTISD

B) Thirupavai
D) Mahabharatham

18, @oewe b xSy Gumt men_Glunp peow@
A) 1180 . o 1192

C) 1184 ) ' D) 11886
Second Battie of Tarain was fought in the year

A) 1180 B) 1182
C) 1194 D) 1196
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120, ysorayRelr B dafR e Gl Po—csne QuiBinic v dsor

A} @eidanfsi a B) 2Cud Q
C) Quiynei gydad - Q o STyt
;ﬁmotmsom Incian expedition under Alaudin Knilj
C A ltumish © B) Ibak

. c) \El_r,qg,-'[ynhlaq D) Malik Katur

1. @var Opaissehids e Qe apuiis pabaRigy

o o gss@ni B s A
C) ainbpisdPoid | b @

B)  amdgieTt awanrLsNind
D) @onempre susnrue sissr

8) Thematic maps

) Military maps
123, cowinpfunenay &R ss G @ ol
A GLiPaLs O cuisan
C) @iPwnl Quglse & D) wiRdE QLR

ol

The Pangsa was surrounded by a mega ocean called
A) Tethys 8) Panthalassa
©) Indian Ocean D) Paciic Ocean
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124.

125.

126.

Liennd & E8 7 aig s Lo Wdu
LT T B) Quasnpsuasr
C) sidgsar ) D) G Basir
The cresent moon shaped dunes are called
A) Barchans B} Moraines
C) Cirques D) Aretes
HH wapash oo HAUE L Baseru Gprél alsd syhp - ":*

A)  aRwruasd sy
C) umai s

The winds that blow fram @ pan cut
A) Trade winds

Favgd@Bena puiRs
A) -
FwiSd Lyl
) o) PogBa Loy
Cuags appsbi’ B .
i Quwris o pUER
“The Productivity of Land" can b,?mrod by
Total Production Total Production
A} Amounts of inputs employed B) " Area of land
Total Production Area of land
C)  Total capital employed D) Total Production
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@ woeive © . B) gepdebaud
C) gepigi gempans D) e e
The supply price of land Is A :
A) Zero B) Equal W one
C) Less than ong D) Morethanone - )
128, #ypd asiwaud gy sy RS Bivnwod seirens et g li

A Qupgmb B) wimieir &
\ : - , ‘.':"_'.- : c . \)
- {1 & |: F.

B M,

D) M,
130, Quadsdt Luwarun® o dspR i s Gurg, QS dealuwsiiun®
| A s addg " B) @moud
- Q femawwnn @kt D) (uhmPu
Whaen the total utility is maximum, the marginal utility will be
A) Increasing 8) Decreasing
C) Constant D) Zero

[Tum over
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131, oy Gsrsden ssdsias Gum upPu afarisanar s o s Qe G
A) sdblssdGaip e Xl = cnenp adsOan'® |
C) Vl—bumenp saSar @+ D) V=i unep «dQa G

The details of Ashoka's war with Kalinga is given in the
A) Kaiinga Ediot B) Xl - Rock Edict

C) Vi-FRock Edict D) Vii—Rock Edict

132.  ss o 1b e yawE \;k
A) ©.5.320° B) @..9.58 @ p

Q ®..5.78 _,-r#-:-;.s;?‘— )} ngnt\
) mnﬁnﬂ‘e
Aj &OAD

c)\78A.D.7#
g

la of the Sangam Age declined due 1o the invasion of

A) Sathavahanas B) Cholas

C) Pallavas , D) Kalabhras
134, prampsr s apEgans B gy afuerd

A ul sust e @ st

C) swilrsisd D) ##80 st

The founder of the Nalanda University
A) Sri Gupta B) Kumara Gupta
C) Samudra Gupta D) Chandra Gupia

e~

P
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135, apdeaipdons PP i

) Lo ‘B) amiepi
©)  arwir maumi ’ D) aoeligri
-

Harsha Charitha written by

A) Bana B) Harsha

C) Hiven Tsang D) Kaligasa '

: N\
138. ctﬁgamwdq1m.‘fl&‘&n¢_ n.-m'nw:;.“&!_uqﬂaﬁw? _

A} gyualGlads B) QawavGan
'08-!‘"-' D) essssomarsen .%
Which one of the organisations des Year ?
A UNIGEF .

€) UNO.

1976
C) 1974 |
Abolition of ;

138, wasameandc: osiror SuoTis o g fevisedicr siebrenfisana

A) 535 3 0545

C) 565 D) 525

~ Total number of members in the Lok Sabha
. A) 53 B) 545
6) 565 D) 525

[Turn over
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139, w B Opatch v b SEs0 L g

A @ B) vyt ayehrancy |
C) bt @mww’

The reservair In Poond| was commissioned by

A) Rajaji B) Aringar Anna

C) MGR. D) Kamarajar * Py

140, REDw NP ML) e Dy dsantt 8.

i @6\\‘

141,

-

) Bimbitka : D) Lothal

142. 24 sk o dran L dsefien arsimenfidans

-,
A) 1027 e 1028

C) 1029 B) 1030
Thiel Rig Veda consist of hymns.

A) 1027 : B) 1028
C) 1029 _ D) 1030

e |
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143, @A sdser s Quwagfldle srygsiiud (aung

@-uruﬂ B) swaRgsd
=~ D) pdig

The Tripitakas are wnitten in the language of

A) Pall B) Sanskrit .

C) Urdu D) Hindi

144, um_sflygBogenas yPu gansupanions Pivenalldsg wri?
A oGeand B) ®ssrai

2

148, ng&agd’. wsvdibssnt 9y sefweavennsy Quidudulc ursmerasy’” ssig

& Bl
A) e “o B8) FmoGsant

) @ aifi D) -eompcinii

Who said “Mindus and Muslims as pots of the same clay* ?
A) Gurunanak B) Namadova
3} Kabir D) Chaitanya

[Turm owves:
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147, usaiRasd@ " aprOanennl sreisp - allvde s enpaw aupPuwat
A)  @omoowrgaid B) moand
C) sdit o o e
Who wrote the commentary of Bhagavat Gita called Gnaneswari ?
A) Ramananda : B) Nanak
C) Kabir D) Gnanadevs

148, “prdssa griay” Durt oy syengpisifa

A)  unalCu® B) aCmdei .
e penadidam’a. D) wdsait : @

Which battle is aiso &
A) Panipat Tain
C) Talaikottai | }

149, aydudeiraug e s Pigomy s kim0 maTwa

| | B) woulld gbud
7 D) swwui®

gja Todar Mal B) Malik Ambar
D) Abul Faizi

150. yuiatae. sy das @abuupismar yavd
A} 1660 o 1685
€) 187 D) 1678

The Treaty of Purandas was concluded in
A) 1660 B) 1685
c) 1871 D) 1678

(o]

.jJ

expariments in the tand revenue administration with the help of



